Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING — SEMESTER - VI « EXAMINATION - SUMMER- 2017

Subject Code: 3362906 Date:11-05-2017
Subject Name: Advance Knitting Technology
Time: 10:30 AM TO 01:00 PM Total Marks: 70

Instructions:

Attempt all questions.

Make Suitable assumptions wherever necessary.

Figures to the right indicate full marks.

Use of programmable & Communication aids are strictly prohibited.
Use of only simple calculator is permitted in Mathematics.

English version is authentic.
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Q.1 Answer any seven out of ten. €20l SlEUBRL Ulctotl scllol AU,
What is warp knitting?

ad (Al A2 gj?

What is knitting machine gauge?

[A2loL Hellet Aesos WA 9j?

Explain sinker loop.

los? U AMe Al

Define stitch density.

WU 3 oll cautvaul .

Draw the structure of single jersey.

Ao sl 252U €1

What is close loop and open loop?

SELD3 U Aol AUt U A2A Y?

List the names of weft knitted fabric defects.
Ase [A2s ¥ufls Slse ol ol ofl ALEl 53A.
Define Course and Wale.

S Al ABA ofl cautvaul AUl

Classify knitting machines.

[AZlot Hellet of clols0L vl

State the properties of rib structure.

Aol 525UR ol 9eLuMl ULl
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Q.2 (@)  Explain about the yarn preparation for warp knitting.
Y. () ald @Elat 1 ol auel QR atet usuld amestal.

OR
(@) Explain about the use of computer in designing and patterning.

@) slosteellol wal Veoflol Ui 511242 ofl GuNollctl [AA Anestal.
(b) Draw and explain half cardigan and full cardigan structures.
(o) &l 5LSDLot Al $Et sLSIolot R 5UR ELR el AMALAL.
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Draw Single pigue and Ponte-de-roma structures.

Alotet ULy @52 el WR-S1-AHL 25U €13

Explain knit, tuck and miss stitches in weft knitting.

Ase (Aol 1L olle, 25 wal Hlu 12U AHes A

OR
Explain weft knitted fabric defects.

ase s ¥olls ui lal Hadl asauell (@A Amestal.

Explain with neat sketch guide bar swinging motion on warp knitting
machine.

ad (A2l Hellet ofl ouess ok xclolat Matet vusld 13l UMl

OR
Explain with neat sketch needle bar mechanism on warp knitting machine.

ad (A2t Hellet ofl ollsct e sl €131 umst A,

Calculate the production of a single jersey knitting machine in kg/shift from
the following data.

No. of feeders = 24, Machine speed = 40, Course/inch = 45, Yarn count = 24s
Ne, Efficiency = 90%, Machine diameter = 28 inch, % shrinkage = 35%,
Stitch length = 0.25 cm.

o{1As{l (Aol uR ol Lot AL [(AZToL Hellet of Yss2Uat kg/shift Hi 20,

No. of feeders = 24, Machine speed = 40, Course/inch = 45, Yarn count = 24s
Ne, Efficiency = 90%, Machine diameter = 28 inch, % shrinkage = 35%,
Stitch length = 0.25 cm.

OR
Draw design and chain link notation for Atlas and Pillar.

Al WA UlAR ofl BAL8et A Aot Als o2 2lot E1RL.
Explain following knitted structure 1) Plain 2) Purl 3) Rib.

(25 e 5AR AHALA 1) Wet ?) U 3) et

State the difference between weaving and knitting process.
[Qclot e @201 DA oll cdsleld AWl
Compare warp knitting and weft knitting.

Al Q1oL A Age (A1t NAX ol RuHel 3.
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